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B.Com. (First Year) Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-II
(Business Statistics)

Time : Three Hours
Maximum Marks ; 100

PART - A (@us-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
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PART - B (@ue-¥) [Marks : 50°

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
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PART - C (@us-W) [Marks : 30
Answer any /wo questions (300 words each).
All questions carry equal marks,
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PART - A
(TvE-31)
UNIT - I
(§TE-1)
1; (i) Point out the main object of statistics.
Hifert F1 Y@ ILvd Ta=l |
(ii) State two main functions of statistics.
wifier % 3 wiyw F wE |
UNIT - 11
(FeTE-11)
(iii ) When is geometric mean useful ?
TR H1eA e IR TEdl &7
(iv) What do you mean by dispersion ?

| FTafeRor ¥ =1 a9 82
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UNIT - III

(geRTg-111)
(v) State the meaning of correiation.
oy 21 Fasd |
(vi) Why are there two regression lines ?
e Y 2 @A B &7
UNIT - IV

(FEE-1IV)

( vii ) State any two limitations of index numbers.

AR i e YN adEd |
( viii ) What is trend ?

IR 2
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UNIT -V
(ﬁé»\f)

(ix) A card is drawn at random from a wells hultted pack
of cards. What is the probability that it is a heart or a
queen.

Ife a1 g F ¥ T T Agfeed &9 § e S
% @ T wiidshal ® % 7 @@ 9@ = ST €W
(x) Find the binomial distribution whose mean is 3 and

variance is 2.
wF e faao T e, e e 3 qen fa=w 2
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PART - B

(@ue-=)
UNIT -1

(z=r3-1)

2. Statistics are like clay out of which you can make a God or
Devil as you please. Explain.
m‘arﬁvﬁﬁ@%w%,ﬁ%mmmaﬁaﬁa@w
TR ©, SATEAT HITS |

OR ( 3¢ra )

3. In a sample survey about the tea habits of Ajmer and Bhopal

following information were received :

Ajmer : Males were 60%, total tea-takers were 35% and

female non-tea takrs were 30%.

1803/9900 5 EL0.




Bhopal : Males were 65%, Males non-tea takers were 25%
and female tea takrs were 15%.

From the above information, prepare a neat table,
wuﬁm?aw,a}mﬁ(mﬁmﬁaﬁm
W % fore TR T, % Wy § frefafes e o g
ST < Y9 60 Wi, Fel 9 94 a1t 35 e wE femt s
ﬂm‘vﬁﬁ it off 30 wfdwe |

I : 59 65 Wiaw, &9 S 9™ e 9 4, 25 giawd 0w
fomt sit = it off, 15 o ot
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UNIT - 11

(g=TE-11)

4. What is meant by dispersion ? Explain various measures of

dispersion.

saferTor | F97 v 2 srafeto & fafis Al = g )
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OR ( 3tear )
5. From the following table compute quartile deviation and

coefficient of skewness from the quartiles and median :
=1 grolt § agds fo=em 9 9qefsi 9 v | fawma s

14 HITAT ¢

Size: |48 | 8-12| 12-16 | 16-20]20-24 | 24-28 | 28-32 | 32-36| 3640

Freq.:| 6 10 18 30 [ 15 12 10 6 2

UNIT - III

(g=T3-111 )

g 6. What is correlation analysis ? Explain the rank method for
computation of the coefficient of correlation.
e gy favem @21 82 geawry s % fag s fafy

1 TE Hifor |
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OR ( 319@r)

7. Calculate the coefficient of association between extravagance

in fathers and sons from the following data :

Extravagant fathers with extravagent sons 248
Extravagant fathers with miserly sons | 81
Miserly fathers with-extravagant sons 92
Miserly fathers with miserly sons 579

=1 ae | fi afr{tﬁkaﬁfé‘qwﬁﬁm-m~mwﬁﬁ%a

T :

Gl fid 9 e 97 248
wEd fmass@ @ 81
S T 3w 9 92
FHE A T 579
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UNIT - IV

(FFTE-1V)

8. What is trend ? How would you find out the trend values by
the method of leat squares ? Illustrate by a numerical example.
IWfd . 87 =Aad wifa g7 A Il ged FH Aem
17 HEATH ITBL Soh T |

OR ( 3197@T)

9. Construct Fisher's ideal index no. from the following table :

Articles Base Year Current Year
Price Quantity Price Quantity
Food 16 50 24 45
Clothing 18 30 24 25
Rent 20 5 15 8
Fuel 10 6 12 6
Mise. 10 10 14 12
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for=r aferant § ToreR & Siedl gaehish i T A :

s SR T e 79
HIHd HHE LG HA

HIEE! 16 50 24 45
i 18 30 24 25
T 20 5 15 8
ELE 10 6 12 6
fafay 10 10 14 12

UNIT -V

(FE-V)

10. Define probability and explain addition and multiplication rules
of probability.
ifererar & R S g Wt & A ud o e
T |
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OR ( 31%m@T )

11. Assuming that 50% population in Udaipur city are vegitarian
and further assuming that 2,048 investigators each take 10
individuals to find out whether they are vegitarian. How many
investigator do you expect to report that three or less than
three are vegitarian.

7 WG g R ISR we § 50% wfs e ¥ sk 204s
AU Yedeh 10 =il @ 7% v o ¥ o e S s
&, T srqsem 7w whidew ¥ 5 O @1 99 @ 5w =fe
VTR 21112

PART - C

(Eve-w)

UNIT -1
(3=TE-1)

12. Define tabulation. Describe the objects, advantages and

limitations of tabulation.
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AR =5 R Sfe | 3HE IRvd, e g wedl #1 A
ifed |
UNIT - 11

(geTE-11)

13. Calculate Karl Pearson's coefficient of Skewness based on
median from the following data :
o T | HegER T STHIE el - fagEe o e e %

oo Hife ¢

Marks (Above)| 0 | 10| 20 | 30 |40 | 50 |60 | 70 80 [ %

it

No. of Students|100| 98 | 95 | 90 | 80 | 50 |35 | B[ 13| 5

UNIT - 11

(z=rE-111)

14. Following figures relate to demand and price of a commodity:
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Demand (kg) 20|21 2426283032 34136138

Priceperkg (Rs.)| 10 [ 12 [ 16 | 18 |20 (20 |2 | 24| 24 | 24

Calculate the two regression coefficients and find out the two
regression equations. Estimate the average probable price

when the demand of the commodity is 31 kg.

ferdlt g =1 5 w& Siwa @ wrafua wHe e wer

amfema) |20 [2 (24 [26 [28 [30 [32 [34 [36 |38

e i et (B} 10 |12 [ 16 [ 18 |20 |20 |2 |24 [24 |24

<l AT O S O FETE S T i

st wefam a1 S ey wElE aw S HA 31

foram. &
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UNIT - IV

(3&TE-1V)

15. Compute the trend from the following by method of least

squares :

Years 2007 | 2008 | 2009 | 2010 | 2011

Sales ('000) | 830 | 920 710 | 900 | 1690

Freifertiad & oAt Yo =R i dfd gR vithfed W

T4 2007 | 2008 | 2009 | 2010 | 2011

faht (000) | 830 | 920 | 710 | 900 | 1690

UNIT -V
(FTE-V)
16. Define the following :

(i) Mutually exclusive events
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(i)  Simple event

(i)  Inverse probability
(iv)  Bernoulli rule

=1 =t fewfig Fifg .
(i) PR st g
(i) T T

(iii)  wfereir wfasar

(iv) =9 frag
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